EARAROBREBRT —5 XN—ZXBISH—F

202428268 () 18EXAH1H

QU S%3% 1112

BRI

[RE$] 1 7%:2,600,000 F  237&:1,040,000H / 3&:

650,000 F 4 37&:390,000 § 5 7&:260,000

FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
— o AAKHA : - - TEE (IWE)
jD:Z-U-Xg_ 4 3 a530 1.(1_5).0 1-1 40.5 5 (5_174; %JH%@E
KRN0 B:ATbyToA4—= VYTV RIT7—A
\ o3 | BEE 1:19.1 12-11 [39.8] — | 1 | 501 |MRE (KH)
NX—=N\— A53.0 () @3 | @) yv¥voST
RINMLVTSY BIXEU—RZTAH peldie]
S~ ~ % 3 | BEX 1:19.8 5-4 na| - 8 | 457 |FEHBAL (v
SVUOITATA—Y 54.0 (31/2) o) |NNLERIE
RiZ2bOVIUI—Y B:FIGVEFIL LIEF IS
H=—ik—7 3 R (11:230/.41) 43 |45 - | 4 | 5% Eﬁi a;fjc#)
RE-UR B:AVTYNPYDN | simnns
= # 3 | BEE 1:20.1 56 |42.4| — | 3 | 475 |W@ATH (I
50101123 54.0 (79%) (+10) ixfage
RE-ZV B I-LRSVYa PEENUS
° S e HHER :20. = . = YETIZ (i)
6 6| A—1—F27 # 3 | fe (11 210/5 77 | 42.4 10 (5&3) 285
Rif—IEI B:A—RZTIF BB
. Sy~ BRRK :20. - . - NBSFER (W)
715l 9| 9% THTINY * 3 | BER (1729074) 222 | 42.9 6 (3_3; el
RiE—ZV BEI/FbheX AR [EER
3 o ARREEREERS :20. a . = =R (KH)
s s movorLFs w3 TRT 157 T A T e
RISYVNT BRIV ITA 77 —L
. | RriE :21. - . - REF0H (KH)
98l 292mHTE 380 A 59| ®0 B ks
RN—ANK B:9T—UH—K ik féth
= = BRE : = = BH=EES
Y : BESUbEUE 3 QQ%K 1.(211).5 1515 [41.7 13 (4_113;) &’EE%Q )
RiAAY3IR—5— B:IIVFAZUT BE BRI
- . IR :21. - . - YET(Z (V)
nlglie S2¥vatvY< %3 | B% S L PG s
RiN40 B:AVAIL—-ILTIY PRI
>0y i 3 | BEXHE 1:22.0 12413 |4.7| - 9 | 457 |{ERISFD (v
12(7|14| 7~ 0> 7 5.0 ) (1) | BT
R:vad7II5Y B:RI—hDY3Y TH 5
e Gll|g&N 122, - . - {ERQAFE— (KH)
1304 3| I ETry— 3G 1(32/24)2 w28 1 (4_020) HPES
RIECHUR BA—IVAATE S M
? p i 3 | BRA 1:22.3 1-12 |[43.2| — | 12 | 537 |ifefdE (KH)
14/5]10| 7/ LT 54.0 (12 o | FI=E
RiFVH—T BAATFELT A0S
Heit% 124, - . - FEHAAsh (I\#F)
15/1| 2| /\F/ 203 K o’ S © 5 | EtEms o
RiADATRALY N BNF/ DTV AET7—L
» RER 2 - - SfeEE (KH)
161713 TRT=Z # 3 | AER 1.(235).0 16-16 | 45.1 1 3717) st
SRIIEAUR BEXASF Y =H #3

@ 1—F—&@BIEfI

13—7+—
Adl=5r=
30—3— |4,(2,9.11,(01,12),6,15,8,16,10,(7,14) ,3,5,13
4J—7— |[4,9,11.,12,2,1,6.8,15,16,7,10,14,3,5,13
@ ILRE
& s 4 830M | | DA R 4-7 440 | | # = 2-4 830M | | 3:=¢& 4-7-12 5,870HM
& B 4 180M 4-12 2,050/ | | #& & 2-4 2,650 | | & 4-7-12 31,220M
7 140M 7-12 1,000 | | &5 = 4-7 1,000
12 390M 5 2 4-7 2,430M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




